Run 5222 triggerwise, sums: All

___ Endrias: 550
a0 H- Miean: 145972527 - 620.3133
T Std Dev: 14547.6368 + 438 5378
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Run 5222 triggerwise, sums: Beam ON, Laser ON
Helicity==0
— Helicity==1
Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000

Run 5222 triggerwise, sums: Beam OFF

_— Endrias: 550
a0 - Maan: 146979527 - 6203133
i Std Dev: 14547.6368 +/ 430.627T8
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Run 5222 triggerwise, sums: Beam ON, Laser OFF
Helicity==0
— Helicity==1
Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




